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20w om 2HY3Y Sovk BB H i 2 8 B
1 10:00 |JDSF - B « L E1%%E | 36 3 24, 3 |S*R:-P 17
2 10:16 |JDSF « C#k « L EL1FE | 17| 2 12| 3 |S-C-R 11
3 1027 |JDSF « DR » L SEREE 11 1 6, 2 IC*R 4
4 10:31 |YZPI Bk - L SEREE 4 1 4, 2 IC-R 4
S 10834 |YZPM AR - L SEREE 3 1 3, 2 |S*R 4
6 1038 |YZ7PI +B#k-L SER S 3 1 3, 3 |S-C-R 6
7 10144 | JDSF - Bk - L E2FHE | 24| 2 12| 4 |S:C+R-P 15
— | 1058 |45 —=/\L 5
8 11:03 |YZPI -Afk-L SER S 5 1 5 3 |S-C-R 6
9 11:09 |JDSF « C#R - L SERRS 12| 1 6/ 3 |S-C-R 6
10 | 11114 |JUDSF - Bk - L SERRS 12| 1 6/, 4 |S‘C*R-P 7
11 ] 11:22 |JUDSF « D#R - L ROBs 6| 1 Ighi, 2 |C+R 4
12| 1126 |YZPI -B#k-L ROBs 4| 1 Ighi, 2 |C+R 4
13 | 11:830 |YZPIM AL ROBs 3 1 Ighi, 2 |S-R 4
14 | 14834 |YZ—PI0+-B#h-L ROBs 3 1 Ighi| 3 |S-C-R 6
15| 11:40 |JUDSF «CHk - L ROBs 6| 1 Ighi| 3 |S-C-R 6
16 | 1146 |YZPI0 <A L ROB 5 1 Ighi| 3 |S-C-R 6
17| 1152 |JDSF - B#k « L ROBs 6 1 J&fi] 4 |S+C+R-P 9
— | 1201 |F®{ 50
18 | 1251 |YZPM-B#k-S E1FE | 14 2 10, 2 |W-T 7
19| 12558 |YZPM-A#k-S E1FE | 14 2 10, 2 |W-F 7
20| 1305 |YZPN -+B#k-S HERBS 11 1 6] 2 W-T 4
21| 1309 |YZPN-A#-S HERBS 9 1 6, 2 W-F 4
22| 1313 |YZPM-B#k-S HERBS 10| 1 6] 2 W-T 4
23| 1316 |YZPM-A#-S HERBS 10| 1 6| 2 |W-F 4
24 | 1320 |YZPN +B#k-S ROB 6 1 B 2 |W-T 4
25| 1324 |YZPN -A#-+S ROB 6 1 IBf7] 2 |W-F 4
26| 1328 |YZPN-B#k-S ROB 6 1 B 2 |W-T 4
27 | 1332 |YZPM-A#-S RO 6 1 IBfi] 2 |W-F 4
— | 1336 |F®X 10
28| 1346 |JDSF-Bfk+S L1FHE | 75 7 42 3 [W-T-Q 39
29 | 1424 |JDSF-C#k+S EL1FHE | 46| 4 24| 2 |W-F 15
30| 14:39 |JDSF-Dfk-+S EL1FHE | 18] 2 12 2 |W-T 7
31| 14146 |YZPI-A#-S BL1FHE | 17| 2 12| 3 |W-T-F 11
— | 1457 |45 —=\L 5
32| 1502 |JDSF-Bfk+S E2FE | 42| 4 24| 3 [W-T-Q 22
33| 1524 |JDSF-.C#k+S EO2FE | 24| 2 12| 3 |W-T-F 11
34| 1535 |JDSF-DfR+S SERS 12] 1 6| 2 W-T 4
35| 1539 |JDSF-Bfk+S EIFTE | 24| 2 12 4 W.T-F-Q 15
36| 1554 |YZPI-Af-+S SERPS 12] 1 6/ 3 W-T-F 6
37 | 1559 |JDSF«C#k+S HERS 12] 1 6/ 3 W-T-F 7
38| 1606 |JDSF-Bfk-S HERS 12] 1 6| 4 W-T-F-Q 8
39 | 1614 |JDSF *DfR+S BB 6 1 g 2 W-T 4
40| 1618 |YZPI -A#-S BB 6 1 IBfi] 3 |WeT-F 7
41| 1625 |JDSF-C#h+S BB 6 1 IBfi] 3 |WeT-F 7
42 | 1632 |JDSF -Bfk+S BB 6 1 IBfi] 4 W-T-F-Q 9
— | 1641 |FE#EK{ 10
— | 1651 |[74F—L Pl =




